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Choose one of the following subjects:
First subject :
Language is simply the garment of thought.
1- Explain this opinion and state the problematic it raises. (9 pts)
2- Discuss this opinion in the light of other theories that deal with the relationship
between language and thought. (7 pts)
3- In your opinion, what is the basic function of language? Justify your answer. (4 pts)
Second subiject :
"There is not a fixed kind of a government which is permanently good; this matter
is relative, depending on the nature of the people and their conditions."
1- Explain the statement of Aristotle and state the problematic it raises. (9 pts)
2- Discuss this statement in the light of other theories you know. (7 pts)
3- In your opinion, is there a philosophical political theory which is compatible
with actual reality? Justify your answer. (4 pts)

Third subject: Text

It is correct to follow what is just, and it is necessary to follow the strongest. Justice
without might is powerless and might without justice is tyranny. Justice without might is
violated, for the wicked are always there. Might without justice is accused. Therefore, we must
always conjoin justice and might, thus making what is just mighty or what is mighty just.

Justice is disputable while might is easily recognized and indisputable. Hence, justice
couldn’t be given might, because might has contradicted justice claiming that the latter is
unjust while might itself is just. Thus, because we couldn’t make what is just mighty, we made

what is mighty just.

... No doubt that equality in the distribution of wealth is just, but because we couldn’t
make justice obeyed we claimed that submitting to might is justice, and since we failed to
empower justice, we resorted to the justification of might in order to conjoin what is just and

what is mighty, thus achieving peace which is the greatest good.

1- Explain the meaning of this text and state the problematic it raises.

Blaise Pascal

(9 pts)

2- Discuss the ideas of the text in the light of what you know about the relationship

between might and justice.

(7 pts)

3- In your opinion, in a world often dominated by violence, is resorting to non-violence

morally acceptable? Justify your answer.

(4 pts)
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